, TPS TPS

(D TPS

110TPS 10.
~1
private static final Executor executor = Executors.newri xedThreadPool (450);
private static ConpletionStage<String> call Api Async(|nteger param {
/1 Conpl et abl eFuture
return Conpl et abl eFut ure. suppl yAsync(() -> {
try {
doubl e dVval ue = Math. randon();
int iValue = (int)(dvalue * 1000);
Thread. sl eep(i Value); // API
tpsActor.tell ("Conpl etedEvent"”, ActorRef.noSender()); // TPS
} catch (InterruptedException e) {
Thread. current Thread().interrupt();
}
return "Response for " + param
}, executor);
}

TPS AkkaStream

sink



public void ThrottleTest(int tps, int testCount ) {
new TestKit (actorSysten) {
{
final ActorMaterializerSettings settings = ActorMaterializerSettings.create(actorSystem
. Wi t hDi spat cher (" ny-di spatcher-streantest");

final Materializer materializer = ActorMaterializer.create(settings, actorSysten);
final TestKit probe = new TestKit(actorSysten);

t psActor = actorSystem act or Of (TpsMeasur enent Actor. Props(), "TpsActor");
tpsActor.tell (probe.getRef (), getRef());
expect Msg( Dur ati on. of Seconds(1), "done");

/'l Source
Sour ce<l nteger, Not Used> source = Source.range(1, testCount);

/1 Fl ow

final int parallelism= 450;

Fl ow<I nt eger, String, NotUsed> parallel Flow = Fl ow. <l nt eger >create()
. mapAsync(paral |l el i sm BackPressureTest:: cal |l Api Async);

/1 Buffer Over fl owSt rat egy. backpressure

int bufferSize = 100000;

Fl ow<l nt eger, |nteger, NotUsed> backpressureFl ow = Fl ow. <I nt eger >create()
.buffer(bufferSize, OverflowStrategy.backpressure());

At omi cl nt eger processedCount = new Atomniclnteger();

/'l Sink
Si nk<String, ConpletionStage<Done>> sink = Sink.foreach(s -> {
11

processedCount . get Andl ncrenent () ;
i f(processedCount. getAcquire() % 10 == 0) {
/1 Systemout.println("Processed 10");
}
IO

System out. println("Run backpressureFl ow bufferSize:"+bufferSize);

/1 Runnabl eG aph
sour ce. vi a( backpressur eFl ow)
.throttle(tps, FiniteDuration.create(l, TinmeUnit.SECONDS), tps, (ThrottleMbde)
Thrott| eMbde. shapi ng())
.via(parall el Fl ow)
.to(sink)
.run(materializer);

wi t hi n(
Dur at i on. of Seconds( 15),
() ->{
/1 WIl wait for the rest of the 10 seconds
expect NoMessage( Dur at i on. of Seconds(10));
return null;

1)

ny-di spat cher-streantest {
type = Dispatcher
executor = "thread-pool - executor"
t hr ead- pool - executor {
fi xed- pool -size = 50
}
throughput =1



TPS200 ~

* APITPS

: https://github.com/psmon/java-labs/blob/master/springweb/src/test/java/com/webnori/springweb/akka/stream/BackPressureTest.java#L234

Next: -API


https://github.com/psmon/java-labs/blob/master/springweb/src/test/java/com/webnori/springweb/akka/stream/BackPressureTest.java#L234
https://wiki.webnori.com/pages/viewpage.action?pageId=94240903
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